MWF - 09/09 - 01829 -© «

w WURTH

Art. No. Nominal | Length| (MX) @dl |k oA |oB |C Specifications
Dimension My | L mm mm mm mm mm mm

06634 60* |M 4 60 |M 48x07 | 55 |075 | 42 | 58 |17

06634 80* |M 4 80 |M 48x07 | 55 |075 | 42 | 58 |17 ¢d 1

06635 76 |M 5 76 |M 59x08 | 70 |075 | 505 | 71 |18

06635 100 |M 5 100 |M 59x08 | 70 |075 505 | 71 |18 | My 6H

06636 94 |M 6 94 |M 7.2x1 80 |075 625 | 81 |18 - p———

06636 120 |M 6 120 |M 7.2¢1 80 |075 | 625 | 81 |18 L

06637 100 |M 7x] 100 |M 825x1 | 88 |075 | 735 | 89 |19 =

06637 140 | M 7xI 140 |M 825x1 | 88 |075 735 | 89 |19

06638 117 |M 8x N7 |M 924 100 |0.75 82 [107 |21

0663812511 |M 8 117 |[M 95x1.25 [106 |0.75 82 |107 |21 =

0663812516 |M 8 162 |M 95x1.25 |10.6 | 075 82 [107 |21

0663912513 |M 9x1.25 | 130 |M105x125 |11.0 |075 | 93 [112 |21

0663912518 |M 9x125 | 180 |M105x125 |11.0 | 075 93 |12 |21 -

0663 101 M 10x1 62 |[M11.2x1 M6 |075 [103 [129 |20 Threadforming area

0663 101 90* | M 10x1 90 [M11.2x 16 |075 [103 [129 |20 (M X)

066310150 | M 10x1 150 |M11.2x1 1.6 |075 [103 [129 [20 .

0663 101250* | M10x1.25 | 9.0 |M115x125 |126 |075 |103 129 |22

0663101251 |M10x125 | 150 |M115x125 |126 |075 |103 129 |22

0663101252 | M10x1.25 | 200 |M115x125 |126 |075 [103 |129 |22

0663101514 | M 10 140 |M118x15 [126 |075 [103 |129 |22

0663 101520 | M 10 200 |M118x15 |126 |075 [103 129 |22

0663 111122* | M11x1.25 | 220 |M124x125 |135 |075 |115 |141 |26

0663111516%| M11x15 | 161 |M129x1.5 |135 |075 |15 [141 |21

0663 111522%| M11x1.5 | 222 |M129x15 |135 |075 |115 |141 |21

0662121250 |M12x125 | 9.0 |M136x1.25 |140 |075 |121 |141 |27

0662121251 |M12x1.25 | 150 |M136x1.25 |140 |075 |121 |141 |21

0663121567 |M12x1.5 67 |[M139x15 |150 |075 |123 151 |21

0663121593 | M 12x1.5 92 |M139x15 |[150 075 [123 |151 |21

0663121516 |M12x15 | 163 |M139x1.5 |150 |075 |123 [151 |21

0663121524 |M12x15 | 240 |M139x15 150 |075 |123 [151 |21

0663121751 | M12 162 |M142x1.75 [150 |075 |127 |154 |28

0663121752 | M12 240 |M142x175 [150 |075 |127 |154 |28

0662141250 |M14x1.25 | 7.0 |M156x1.25 160 |075 |140 |162 |28 ~

0662141251 | M14x1.25 | 80 |M156x1.25 | 160 |075 |140 [162 |28

0662141252 |M14x1.25 | 94 |M156x1.25 160 |075 |140 |162 |28 Y

0662141253 |M14x1.25 | 110 |M156x1.25 160 |075 |140 |162 |28 '

0662141254 |M14x125 | 150 |M156x1.25 | 160 |075 |140 |162 |28 A

0662141255 |M14x1.25 | 168 |M156x1.25 |160 |075 |140 |162 |28

0663 141565 | M 14x1.5 65 |M159x15 [170 |075 [147 [171 |28 @B

0663 141593 | M 14x1.5 93 [M159x15 |170 |075 |147 |17 |28 /T g

0663141512 |M14x1.5 | 128 |M159x1.5 |[170 |075 |147 |171 |28

0663141516 |M14x15 | 160 |M159x1.5 |17.0 |075 |147 |171 |28

0663141526 |M14x1.5 | 260 |M159x1.5 |170 |075 |147 |171 |28

0663 161 570% | M 16x1.5 70 |[M178x15 [185 |075 [167 [190 |29 Tear-Out Strength

0663 161512* | M16x1.5 | 127 |M178x15 |185 |075 |167 [190 |29 _ o

0663 161524* | M16x1.5 | 240 |M178x1.5 |185 |075 |167 |190 |29 Depending on the individual case (near

edge, material thickness, ...) and material

066316 240*| M 16 240 |M18.8x2 198 |075 [167 [200 |29 (]} éisiing), brass, gkt meial] fie

066316 320*| M 16 320 |M18.8x2 198 |075 |167 [200 |29 fear-out strength may vary. For that reason,

0663 181610* | M18x15 | 100 |M199x1.5 |205 |075 |183 |213 |35 itis not possible fo make any general state-

0663 181 518* | M 18x1.5 183 [M19.9x1.5 |[205 0.75 183 |213 |35 ment, however, tests in the labs of Wiirth

0663 181527*[M18x1.5  |270 [M199x15 [205 [075 [183 [213 [35 have shown that a repair with TIME-SERT

066306 94* |M 6 V2A | 94 |M 7.2 TR o O S B BT g‘rgfﬂﬁﬁzzg e_r?"é“r'nfgfiﬁfg??l?;hbzfs:g

066306 120*|M 6 V2A | 120 |M 7.2x1 80 |075 425 8 |18 slisted as sopplanentaryTnformdtion,

0663081211*|M 8 V2A | 117 |M 95x1.25 |106 |075 | 82 |107 |21

0663081216*|M 8 V2A | 162 |[M 95x1.25 [106 |075 | 82 |107 |21 Steel Bushes

0663011514* | M10 V2A | 140 |[M118x15 [126 |075 [103 |129 |22 Material: 9SMn/Pb28K DIN1651/668

0663011520* | M10 V2A |200 [M118x15 |126 |075 [103 [129 [22 Coating: galvanized, passivated

All dimensions subject to reservations. Stainless Steel Bushes

* ORSY ' Material: 1.4301 (V2A) DIN 17440/1654



